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| ntroduction

In the following sections a list of errata to the differeninpings are given. We have tried to give
a full list. If you find any more typos then please let us know.

1st printing: April 1998; 2nd printing: June 1999; 3rd pmg: April 2002; Print on demand
(same as 2nd printing): October, 2004.

Erratathat remain after both 2nd and 3rd printings

p25 In formula for area remove D5 (X)’

p28 line-1 ‘Section 3.12" should be ‘Section 3.2’

p35 displayed equations after (2.11) should ha\éi ||*> = 2/k

p4l In the 1st displayed equation of Definition 3-2a — ib should be—1;(a + ib)
p72 line 8and line after (4.28):0 = arg(—~*z) should bed = —arg(y*2)

p79 in the formula for there should be a division line between the upper and lowgnessions
in the argument of arctan. (somehow it has disappeared)

p79 in the formula for remove the extra betweenws, andwsg in the numerator, and remove
the last bracket ‘)’ in the numerator.

p79 bottom lineusy;: the expression in square brackets is the numerator anddsheulivided
by (ab)'/2. Also the division line is missing.

p85 1st equation after Proof:
D3pa = | X2 — BXIT — 17" ||? = trace(| Xa|* + 82| X1||? — 28X3 XiT) + kv,
should be

Dps = [1Xz = BXIT = Ly | = | Xalf? + 8% X112 — 28trace(XTX1T) + kT,

and four lines below:

trace([| Xa||* + 4%[| X1 |* — 28] X4 [| || X2 Zy Z1T)



should be
1Xa|? + 871 X1 | — 28] X || [| X2||trace(Z3 ZiT)
plll 1stdisplayed equatidn; + v;)* should beu? + v?
pl15 1st displayed equatiofi:= arg(—~;_,2) should b&) = —arg(v;_,2)
pl17 2nd displayed equatior:2x + 2z* upu*z should be—2x + 2k2* pup*z
p133 In (6.38) the covariance matrix should be multiplied2by
p133/134 Change the proof of result 6.11 to: Specificallyefwrite Xz = 1+ ¢ where, without loss
of generality, we have rescaled by 6,5 = { (2 — p1)? + (2 — 11)?}/? and
€= (€1, k1,115 s Mh-1) " ~ Nog—2(0, 7 I —2),

wherer = o /d1. The Taylor series expansion is

U=0(1-V2e)—vV2m®+v2Z+> Y O(cjer),
ik

T
whereZ = (62, vy €12, . 7Vk—1) .

p138 Equation (6.48): each term in the sum should be mutiptiy (\; /\2)’. i.e. insert this
term after the summation sign.

p138 Equation (6.48): the arguments of the generalised déragpolynomials should be negative,
i.e. insert a minus sign after ea¢hsign.

p155 line 3:s3/); should bel.0084s7 /\;

pl77 IN the first three displayed equations ‘sup’ should be ace’

p192 Replace: in (9.2) with p*.

p192 Atend of 1st sentence after (9.2) add: ‘, where E[Y] = Hvec,,} (1*).

p196 At the end of (9.9)os 2p}, should becos 2p)},

p196 In the first line of the proof of Result 9.3: ‘(3.4)’ shdWe ‘(9.6)’

p206 line after displayed matriX: change ‘is symmetric positive definite’ to ‘is non-singula
p233 line 21: should be Green and Sibson (1978)

p237 Equation (10.22) on the right-hand-sidex@s well asw, one needs to post-multiply by
p288 paragraph 3 line 2. Replace ‘1998’ with ‘2001’

p318 line-12:(x2, y2) should bgxy, —ys)

p322 Replace lines -1,-2 with

Bookstein, F.L. and Mardia, K.V.(2001). EM-type algorithrfor missing morphometic
data. Proceedings Intl.Conf. on Recent Devlopments insHtat and Probability and their
Applications. 1ISA 2000-2001 INDIA ,pp66-68.

p325 last line: should be Green and Sibson (1978)
p330 pages for Mardia and Dryden (1989b) should be 271-2827(+-282).



Errata corrected on 2nd printing but havereappeared on 3rd printing

p6 In the caption line 3-4 change:

‘permuted to give the same shape as A, B, C and D; triangle beagflected to have the
same shape as A, B, C and D}’

to

‘permuted to give the same shape as A, B, C; triangle E canfleeted to have the same
shape as D;’

p9 line 8: add in ‘non-i.i.d.” before ‘distribution theory’
pll Figure 8 caption: renumber the landmarks. Change théering to the following:

The face region is taken to be comprised of landmarksia&on (n), 4: basion (ba), 5:
staphylion (st), 1: prosthion (pr) and 6: nariale (na). The braincase region is taken to be
comprised of landmarks 7, 4 andléregma (b), 2: lambda (I) and 3: opisthion (o).

pl3 Fig 10 caption: ‘13 is the extreme bottom right’ should &is the extreme top left’
p24 line - 8 ‘interpretated &k times’ should be ‘interpretated #2k)~! times’

p40 line 8: changés, 0, a,b) to (3,0, a, b)

p50 Figures 36 and 37 captions: ‘+3 standard deviationgilshioe ‘6 standard deviations’'.
p51 line 7 ‘at +3 standard’ should be ‘at 6 standard’

p51 second pair of displayed vectors: change to

(0.11 — 0.117, —0.11 — 0.124, —0.04, —0.01 + 0.224, 0.04 — 0.014,0.01 + 0.017)T,
(0.05 + 0.03i,0.04 + 0.01i, —0.01, —0.06 + 0.017,0.03 — 0.02i, —0.06 — 0.037)T.

p51 line -10 ‘At the same time landmarks 2 and 3 move’ should\bthe same time landmarks
3 and 5 move’
p64 line 4 ‘minimization is again carried’ should be ‘miniration is carried’

p72 line 11 (Definition): ‘partial tangent coordinates’ s be ‘partial Procrustes tangent co-
ordinates’

p86 line 5, equ. (5.9), displayed equ. after (5.9), equ.Q.displayed equ. after (5.10) and the
line afterwards:A should beA.

p87 line 7:A should beA
p96 Equation (5.26) change to

vec(X1) = block diag(HY, HY){v(c, j) + 7}

pl06 Second displayed equation should be changed to

vee(i) + eA; /2
p110 line -6: change; = (0; — 0;)mod2m to ¢; = (6; — 1 )mod27

3



p130 line -7 ‘is a2k — 2) x (2k — 2) block diagonal matrix’ should be ‘is @k — 2) x 2k block
diagonal matrix’

pl131 line 4 ‘transformation fronX to’ should be ‘transformation fronX'j; to’

p132 2nd and 3rd displayed equatiosisi® p should becos? p. (three times altogether)
pl32 1stdisplayed equation should be tttemoment, i.e. changB[{x3(A\)}] to E[{x3(\)}"]
pl46 line -13 change 43.124 to 43.269 in two places on thés lin

pl46 line -9 changer'in Hy'to ‘7 in Hy'

p170 line -5 ‘landmarks 7 and 4’ (not 1 and 2)

pl170 line -2 ‘landmarks 7, 4, 5, 1 and 6’ (not 1,2,3,4 and 5)

pl70 line -1 ‘landmarks 7, 4, 8, 2 and 3’ (not 1,2,6,7 and 8)

pl71 line -9 ‘landmarks 7, 4, 5, 1 and 6’ (not 1,2,3,4 and 5)

pl71 line -7 ‘landmarks 7, 4, 8, 2 and 3’ (not 1,2,6,7 and 8)

pl71 Figure 77 has actually been registered on landmarlsshion (1) and lambda (2). A plot of
the data registered on landmarks nasion (7) and basion @yMibin with the text. Replace
with new figure 77

pl72 Figure 78 has actually been registered on landmarlsshpon (1) and lambda (2). A plot of
the data registered on landmarks nasion (7) and basion pvioin with the text. Replace
with new figure 78

p171 Equation (7.17N2,—4 should beNy;,_4
p198 line 7 ‘size-and-shape’ should be ‘size and shape’

p207 equ (10.11) middle equation the far right hand side ¢leersd occurance d@i'?')” should
be (T''%)7,

p264 equ. (11.7) the term
9(Bold|Onew|x) should beg(ford |Onew)
p278 line 19 ‘probabilities distributions’ should be ‘petility distributions’
p281 line —11:% missing from average squared Euclidean distance matixwie should change

W)hihe = 2opey d2 (R, ho) 10 (W)py py = 2570 d2(ha, ha)

n

p309 line -8: ‘this chapter’ should be ‘Chapter 11’

Index p340 ‘Goodall’'s SFS test’ should be ‘GoodalFsest’
Index p340 gorilla skulls data 317-318 (not 314-315)

Index p340 handwritten character recognition data 318{&20316)
Index p342 mouse vertebrae data 313-316 (not 312-314)

Index p345 schizophrenia study data 320 (not 316)



Errataremaining on 2nd printing but corrected on 3rd printing

p67 line -2 change ‘full squared full’ to ‘squared full’
p96 Subsection heading of 5.5.1: Change
‘Two dimensional data’ to ‘Tangent space PCA
p96 Equation (5.26) change
block diag(H™, HT) to block diag(H™T,..., HT)
p113 in bottom displayed equatiofi;,  should befs,
pll4 in top displayed equatiogf‘;;}H should befski2
p118 line 3: 0.496 should be 0.495
p118 line 5:k = 100 should ber = 419.2
pl43 Two lines before result 6.16
¥ = 72LQoL" should be: = 272 LO LT
p143 in Equation (6.59)
m2FLQyLTFT should be2r? FLOyLTFT
pl44 In Equation (6.60)
2L LT should be2r2LQy LT
pl44 Change displayed equation before section 6.7.4 to

2r2FFT = 27%{Iy,_4 + 00T 4 07T},

pl66 The first displayed formula needs a horizontal line betwthe numerator and the denomi-
nator (It somehow disappeared on printing).

p1l67 bottom formula on page for : replacenkm with 1, i.e, it should be

5 = m Zzn;vec(xf ~ X)Tvec(X? — X).
p183 change ‘cos I’ to ‘cog*’ in right-most part of equation (8.6)
p183 two lines after equation (8.6): changéto * d*’
p227 Caption to Fig 104 ‘pdot’ should be ‘plot’
p239 line -14: Change, j»(h) = [|h[| to o1 /2(h) = —||h||
p282 line before equation (12.38¥ 1, should be";lg

p282 Equation (12.3): twice on RHS one should just hadviinstead o202, i.e. 202x3(62,/202)
should ber?x3(62,/0?)

p288 line 15,16 change Bookstein and Mardia (1998) to Bedkstnd Mardia (2001)



p305 line 16 ‘more more equilateral’ should be ‘more eqeilat

p318 line -2: Changeplu y1)7 ey (xka yk) to (xla _y1)7 ey (xka _yk)
p334 Small (1982) reference: change ‘Philosopical’ to [&%ophical’



